ABI 20M — auizs) 2(61-314), 2l [11-3)

Greomefme —; 2\ eI (2] /3
et | @) @B (M) () w0
— EZ LT = AMC Gol vt rechk ch
N und die. HypoHianuec Wsj
(m/ {a51c267 F 481 =dILE

B < [CR (A& (Y Ao - AZLE f
,,L/;d ,g/ 00e zaz/m mmem AC = SLE

Ve kese eulstelen dwd |
%bﬁ&o& d[e&&g Zlg/zijf"’; C
Al <

Soouly hud dort e e
LU[Mﬂ aunol_ous c/«fze/%waf
Cofaton uw AE

Ve Padtus dor léwsc (ﬂfSPHW def Holbe Z am AABC
A 2942 = 54

Mbc
A‘é=43+41‘-4225=/5
Ay e FAShe =87

ke = 5({ 73'— ?,ZLP = p

NN $
C) E;)(:A+z-/4-25+/u J)Jrz()f/u{s

56 - (1)
%6 ~(-20)] =
4o = M2

=i
(o,
X
>
ol
)

) ) 2
OERs
- -
X
) )

(o, °]
S—————
/‘\

¢e=> | x, +xL-,’Zx3’(él+7—g) =0
g' 2)‘4+XZ-OZX3 = 3 SO




) S(Ms[4[-6)

(A,
= _ (- ET A , =)
BS. '%"4 , (*7',’, S ARES N

(—f”:)°{.ii  ‘ M4 | 36 A2
SR I AT L RN R
asccos (————;%) = 320°
o (X (&3 EIS A" FR2O” =580 [ 1
EPERRVCEEIEE YRR E AN 4_0,51 |
G )R- ()]
= 23205 - 553+ 23| = 1 1236 - 6 VE

e) Ve Geolls g wuass— prsallel aal Goone € g
i AlesTaunol der i by, dor Puaniole abso
dam Mbstamd vou S aw Elae E | Ax
Vo = & Gl wud 0% gl Grunchicle
G = ARRC aur” e Mol g@% beeitn
V8% ﬂzf@lc(?@/c/éd Votupen.,

vg) /‘(?\ HifleCpunts dos  Grandirerses
N Pt vou [ABT
* ( Thalssbrers Joor [AR] )~

PREIENEER7/ TN (35
- £0843) - 3(84E5)) - (%)
Xof ¢ au//5 durdd S : | ’
= (MT Z K =M S+ 2T
€-‘)(:(‘f)+'5"(4) =—7Z(xz: b + 7
1e E x =6 -2r
Ciu € A(As+aT)+ €40 -2(6-28) -3 =0
28 Py Y W[+ 2 49T (3 30
9% = T3¢ [ @L="%

(\




/M z M,S -& 365‘ , -—?H
~ o s = Vi = -y = =
oI ( (’Z ¢ =5 (—(C(-f—& 3 ) oar-)

—> & Yogl seulted] abes dout mno(ﬁl‘el&W(M/DL{ﬁLéf |
— Oy Zeﬁe/ 5/ eefoo(z

2 _
\/Keglle; 'G‘C’/‘g‘_%'r@d'(ﬁmgys{
;,yzw-/(fi)

)| & seasnfEAr

4
3
Y
£
- QST |~ F063VE

Q

—ﬂ——vz’ ‘ = -—-L.-_?Ogj o2 3)2‘%

Vayia uwele A5

— s Wolurrtuit ol Ke@xefs‘/:sf ca w223 %
gtﬁ/éf’f aJs obrs b4 urun a@r?j/famb&~




